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1.6 Properties

9-21-17
p. 28

Commutative Property
Associative Property
Identity Property
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Commutative Property

Words Numbers Algebra

Youca;@;| 3+8=8+3 a+b=b+a
any order an @mb 5.7=7.5 ab = ba

numbers in any grder

Comm LULG\HVO
Pro perT

Sep 26-9:43 AM

Associative Property

Words Numbers Algebra

When o@r

oucangroup B+5+1=4+GE+N|@+b+c=a+(b+0
the numbers together 9+2+6=9+(2-6) (@+*b)sc=a-(b-0)
in any combination.

ASSOC(OG' Ve
Pro perT

Sep 26-9:43 AM
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Identity Property

Words Numbers Algebra
The sum of 0 and any
number is the number. 4+0=4 a+0=a
The product of 1 and any 8+1=28 a*1=a
number is the number.

14 eﬂ‘l‘ (—[-%
Pro pe/r+<6_

Sep 26-9:43 AM

A.(206)01=20(601)

B.3+0=3

1 dent

Tell which property is represented.

Associodve, Frop

C.7+9=9+ 7‘;‘-%’ PFOPQF%
Commintudive, Prop

Sep 26-9:44 AM
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Tell which property is represented.

| Ldent '}% Pro@

Sep 26-9:44 AM

Simplify each expression. Justify each step.

A.21+ 16 + 9 -
21+ 16 +9=16+9 + 21 Commutative Property.
= ¥+t +21 Associative Property.
=16 + 30 Add.

= 46

2149 4 b Comm

Sep 26-9:45 AM
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B. 20 «e9 5

R0-5 - ﬂ Comm.
00 -9=900

Simplify each expression. Justify each step.
A.17 + 14 + 3

1 +23414 Comm.
0 + (4 =34
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B.12 e3¢5

JQ\/SS Comm.
LO-3 =180

Sep 26-9:45 AM

Tell which property is represented.

1.17e1 =17 Iclen-‘-i-\-a. Plrop.
2.(12+14) +5=12 + (14 + S)ASSDL\;«:\‘I.lX—

3.2e¢16 =162
Commu-tzctive D&gt.:‘_)

Simplify each expression. Justify ea

4. 4412025 354,9\ COmm.
5.48 + (15 + 2) ,OO- |- =300

45+2.415 Comm.
J0+H(5 =5

Sep 26-9:47 AM
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